CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MIDDLE SCHOOL INTRAMURAL ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, \$35.57 PER HOUR (23-24): (10-1500-1200-1341-000-0)

> <u>Iles School</u> McParland, Damon

II RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM APRIL 10, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Schneller, Brittany 2.00 hours \$21.50 Per Hour \$43.00

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 8, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0100-1341-535-4)

> Edmonds, Meghan Gilbert, Rachel

Harris, Sherry

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 27, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0100-1341-535-4)

> Edmonds, Meghan Gilbert, Rachel

Harris, Sherry

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BENCHMARK PLANNING ACTIVITIES MAY 1, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Campbell, Lisa	Kaitschuk, Angela
Creek, William	Marsaglia, Brianne
Davis, Lacy	Mayes, Apryl
Duke, Karen	Rudd, Douglas
Gebhardt, Emily	Stout, Marsha
Hale, Yacira	Walk, Michelle

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 9, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0100-1341-535-4)

> Edmonds, Meghan Gilbert, Rachel

Harris, Sherry

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 3, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 17, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED SCHOOL PERSONNEL FOR **ADDAMS ELEMENTARY** SCHOOL **IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 7, 2024, \$35.57** PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 20, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES NOVEMBER 15, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 1, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-535-4)

> Crum, Milena Edmonds, Meghan Maggiore, Michelle

Mitchell, Natalie Perry, Whitney

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 26, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0100-1341-535-4)

> Edmonds, Meghan Gilbert, Rachel

Harris, Sherry

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 25, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0100-1341-535-4)

> Edmonds, Meghan Gilbert, Rachel

Harris, Sherry

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL BENCHMARK TRAINING ACTIVITIES MAY 1, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-0400-1341-531-4)

Amerson, Megan	Kiser-Gruen, Nicole
Bennett, Janene	Mahan, Eva
Coe, Elizabeth	Miller, Ashley
Cox, Heather	Milliman, Kathryn
Davis, Holly	Osmonson, Susanne
Deatherage, Kristy	Rogers, Amber
Helton, Rachel	Sekardi, Maria
House, Elizabeth	Wankel, Ashley

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL AVID PLANNING ACTIVITIES MAY 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0400-1341-531-4)

> Cox, Heather House, Elizabeth

Wankel, Ashley

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 13, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0600-1341-535-4)

Antonacci, Abigail	Ligon, Tierra
Dewitt, Beth	Nolting, Jenny
Hood, Heidi	Taylor, Christina
Ingram, Cristi	Zaffiri, Alise

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 22, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-535-4)

Biggs, Brian	1.25 hours	\$44.46
Boarman, Claire	1.50 hours	53.36
Horstman, Laura	1.50 hours	53.36
Kulavic, Tara	1.00 hours	35.57
Scott, Tyra	0.50 hours	17.79

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 17, 2024, \$35.57 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$88.93 EACH: (10-2210-0900-1341-535-4)

Barrett, Caitlin	Horstman, Laura
Constant, Ashley	Jimerson, Angela
Craig, Jonathon	Johnson, Gay
Crow, Cynthia	Lewis, Danielle
Freeman, Tina	Mayfield, Keri
Garman, Jeffrey	Scott, Tyra
Hamilton Jr, Wayne	Westfall, Katrina

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$88.93 EACH: (10-2210-0900-1341-535-4)

Craig, Jonathon	Lewis, Danielle
Crow, Cynthia	Martin, Alexandra
Freeman, Tina	Netznik, Melissa
Garman, Jeffrey	Scott, Tyra
Jimerson, Angela	Westfall, Katrina
Johnson, Gay	

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 1, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-535-4)

Biggs, Brian	1.00 hours	\$35.57
Boarman, Claire	1.50 hours	53.36
Horstman, Laura	1.50 hours	53.36
Rosa, Leslie	1.50 hours	53.36
Scott, Tyra	1.50 hours	53.36

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MAY 13, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-1900-1341-531-4)

Noll, Meghan

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES APRIL 23, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0900-1341-535-4)

Barrett, Caitlin	Freeman, Tina
Biggs, Brian	Garman, Jeffrey
Craig, Jonathon	Lenhardt, Kyle
Crow, Cynthia	Selsor, Michelle
Davis, Tatiana	Sponsler, Alisa

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW BENCHMARK TRAINING ACTIVITIES MAY 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Brady Hanken, Kathleen	Perry, Claudia
Detmers, Erica	Small, Laura
Galayda, Grace	Thomas, Sarah
Garrett, Olivia	Williams, Kauntessa
Ginsberg, Rachel	Young, Jennifer

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW IAR TRAINING ACTIVITIES MARCH 12, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Cook, Kaitlyn	Sapetti, Camryn
Detmers, Erica	Smith, Melissa
Kincaid, Jessica	Thomas, Sarah
Meyer, Heather	Young, Jennifer

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES APRIL 30, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-1900-1341-531-4)

Noll, Meghan

Tomasko, Kimberly

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL PLANNING ACTIVITIES MAY 4, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-2300-1341-531-4)

Jackson, Ashton

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 3, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2300-1341-531-4)

> Chasco, Amber Hartman, Linda Kircher, Megan

Mead, Nena Rhodes, Lindsey

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT PLANNING ACTIVITIES FEBRUARY 22, 2024, \$35.57 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$88.93 EACH: (10-2210-2300-1341-531-4)

> Barnard, Rachel Kircher, Megan Bentsen, Abigail Lacamera, Kathryn Callahan, Steven Lamantia, Ashley Chasco, Amber Marcum, Stacie Clark, Abigail Mead, Nena Dockter, Emily Nunn, Jelinda Dukett, Jennifer Oglesby, Jennifer Eucker, Hannah Przekurat, Alex Flanagan, Kathy Purdy, Patricia Glovinsky, Sarah Rahman, Asima Hartman, Linda Raynolds, Amy Hays, Robyn Rhodes, Lindsey Jackson, Ashton Walker, Amy Johnson, Marissa

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 25, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28: (10-2210-2600-1341-531-4)

Rotherham, Pam

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 26, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28: (10-2210-2600-1341-531-4)

Rotherham, Pam

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 30, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 22, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 1, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 15, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 2, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Hughes, Lindsey

Logsdon, Alicia

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL IAR TRAINING ACTIVITIES MARCH 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Bowman, Ashley	Oseland, Mary
Garrett, Olivia	Williams, Kauntessa

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 29, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Boston, Catherine Hughes, Lindsey

Logsdon, Alicia

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena

Langen, Natasha

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES JANUARY 1 THROUGH APRIL 23, 2024, \$73.62 PER HOUR, 5 HOURS FOR A TOTAL OF \$368.10: (10-2210-6220-1342-000-0)

Swierkosz, Beth

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3800-1341-535-4)

> Campbell, Melissa Lantz, Andrew

Parkinson, Vanessa

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Nestler, Tena

Roark, Heather

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena

Stoll, Nicole

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 26, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Berberet, Jamie	Impson, Jamie
Blankenship, Autumn	Lessen, Kelsey
Borders, Mario	Phillips, Michelle
Durr, Tiana	Welch, Ashley

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FINE ARTS PROFESSIONAL DEVELOPMENT APRIL 24, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Daugherty, Brian	2.00 hours	\$71.14
Elshoff, Anne	1.75 hours	62.25
Frost, Karen	1.25 hours	44.46
Marcy, Elizabeth	1.75 hours	62.25
Minch, Amy	1.75 hours	62.25
Minder, Kelly	1.75 hours	62.25
Scherbing, Laura	1.25 hours	44.46

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 5, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Allender, Jennifer	Impson, Jamie
Berberet, Jamie	Phillips, Michelle
Blankenship, Autumn	Welch, Ashley
Bolt, Anna	Zimmers, Layne

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 11, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4100-1341-535-4)

Blankenship, Autumn	Lessen, Kelsey
Borders, Mario	Phillips, Michelle
Gephart, Jacob	Reynolds, Laura
Impson, Jamie	

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Barnes, Stacey	Jones, Tammy
Blankenship, Autumn	Law, Jordan
Booth, Dione	Martin, Colleen
Durr, Tiana	Sheraden, Catherine
Jachino, Rachel	

LIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID MATHENY RELATIONAL CAPACITY MEETING APRIL 15, 2024 THROUGH MAY 15, 2024, \$35.57 PER HOUR, .75 HOURS FOR A TOTAL OF \$26.68 EACH: (10-2210-0000-1341-564-4)

> Bahlmann, Dara Bowman, Ashley Brady Hanken, Kathleen Detmers, Erica Erickson, Carlie Galayda, Grace Garrett, Olivia

Ginsberg, Rachel Kincaid, Jessica Logsdon, Thomas Meyer, Heather Small, Laura Williams, Kauntessa Young, Jennifer LIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 15, 2024, \$25.19 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$31.49 EACH: (10-2210-4100-1341-535-4)

Berberet, Jamie	Impson, Jamie
Blankenship, Autumn	Phillips, Michelle
Borders, Mario	Reynolds, Laura
Gephart, Jacob	Welch, Ashley

LV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4100-1341-535-4)

Blankenship, Autumn	Lessen, Kelsey
Borders, Mario	Phillips, Elisabeth
Gephart, Jacob	Phillips, Michelle
Impson, Jamie	Reynolds, Laura

LVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Berberet, Jamie	Phillips, Michelle
Blankenship, Autumn	Welch, Ashley
Impson, Jamie	Zimmers, Layne

LVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER I PLANNING ACTIVITIES FEBRUARY 12, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

> Blankenship, Autumn Gephart, Jacob Impson, Jamie Lessen, Kelsey

Phillips, Michelle Reynolds, Laura Welch, Ashley

LVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES APRIL 29 THROUGH MAY 6, 2024, \$32.26 PER HOUR, 5 HOURS FOR A TOTAL OF \$161.30: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

LIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Barnes, Stacey	Martin, Colleen
Booth, Dione	Schnake, Christine
Jachino, Rachel	Sheraden, Catherine
Law, Jordan	Womble, Ashley

LX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PROBLEM SOLVING PLANNING ACTIVITIES MARCH 18, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Allender, Jennifer	Plummer, Kahla
Bolt, Anna	Welch, Ashley
Impson, Jamie	Zimmers, Layne
Phillips, Michelle	

LXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Blankenship, Autumn	Plummer, Kahla
Impson, Jamie	Welch, Ashley
Phillips, Elisabeth	Zimmers, Layne
Phillips, Michelle	

LXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH DEPARTMENT CHAIR MEETING MAY 6, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Bradley, Rechad	1.00 hours	\$35.57
Fromm, Kelly	1.50 hours	53.36
Horstman, Laura	1.50 hours	53.36
Leach, Nikki	1.50 hours	53.36
Myers, Erin	1.00 hours	35.57
O'Bryen, Sheila	1.00 hours	35.57
Silveri, Tracy	1.50 hours	53.36
Webster, Stephanie	1.50 hours	53.36
Womble, Ashley	1.50 hours	53.36

LXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT BOOK STUDY ACTIVITIES APRIL 9, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Barnes, Stacey	Powell, Donna
Lanter, Adam	Schoeben, Mary
Law, Jordan	Womble, Ashley
Martin, Colleen	

LXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 25, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Berberet, Jamie	Phillips, Elisabeth
Blankenship, Autumn	Phillips, Michelle
Gephart, Jacob	Welch, Ashley
Impson, Jamie	

LXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 11, 2024 THROUGH, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Barnes, Stacey	Martin, Colleen
Booth, Dione	Schnake, Christine
Durr, Tiana	Sheraden, Catherine
Jachino, Rachel	Womble, Ashley
Law, Jordan	Zimmers, Layne

LXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT PLANNING ACTIVITIES FEBRUARY 22, 2024, FOR RATE SPECIFIED: (10-2210-2300-1341-531-4)

Albaugh, Jenna	2.50 hours	\$35.57 Per Hour	\$88.93
Cantrall, Casey	2.50 hours	\$14.24 Per Hour	35.60
Farah, Janice	2.50 hours	\$21.50 Per Hour	53.75
Kapp, Nancy	2.50 hours	\$18.10 Per Hour	45.25
Pokora, Jessica	2.50 hours	\$18.10 Per Hour	45.25
Schneller, Keri	2.50 hours	\$35.57 Per Hour	88.93
Stern, Wende	2.50 hours	\$24.64 Per Hour	61.60
Thompson, Christine	2.50 hours	\$16.72 Per Hour	41.80
Van Ryn, Carmilyn	2.50 hours	\$17.86 Per Hour	44.65

LXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER II PLANNING ACTIVITIES FEBRUARY 20, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Allender, Jennifer Blankenship, Autumn Bolt, Anna Impson, Jamie Phillips, Michelle Plummer, Kahla Welch, Ashley

LXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER II PLANNING ACTIVITIES FEBRUARY 5, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Berberet, Jamie	Plummer, Kahla
Blankenship, Autumn	Welch, Ashley
Impson, Jamie	Zimmers, Layne
Phillips, Michelle	

LXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT BOOK STUDY ACTIVITIES FEBRUARY 6, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Barnes, Stacey	Pate, Emily
Becker, Libby	Powell, Donna
Hostetter, Melissa	Schoeben, Mary
Hull, Jalene	Womble, Ashley
Law, Jordan	

LXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SRI PROFESSIONAL LEARNING COMMUNITY APRIL 15, 2024, \$35.57 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$80.03 EACH: (10-2210-0000-1341-564-4)

Barnard, Rachel	
Dickman, Barbara	
Eck, Lindsay	
Ericson, Stacey	
Ethridge-Galloway, Tiffany	
Kahl, Lindsay	
Lee, Sabrina	

Murphy, Melissa Piper, Riley Rhodes, Lindsey Roark, Heather Sales, Kaci Swaggerty, Dawn Volk, Rachel LXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 2, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4400-1341-535-4)

Baker, Roxanne	Mccray, Jasmine
Barnes, Melanie	Watson, Sara
Goss, Courtney	

LXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 1, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4400-1341-535-4)

Daniels, Sherry	Prather, Valerie
Mccarthy, Caitlin	Schatz, Katie

LXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PRE-K WORKING COMMITTEE MEETING APRIL 16, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-0000-1341-564-4)

Gray, Nicole		
Justison, Mildred		
Kaufmann, Sarah		
Kim, Amanda		
Loken, Susan		

Martin, Kathy Naumovich, Amanda Shaffer, Andrea Simmons, Sara

LXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SANDBURG INCLUSIVE PRACTICES CO-TEACH PLANNING MARCH 11 THROUGH APRIL 30, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-0000-1341-564-4)

Childers, Tiffany

Guikema, Lindsay

LXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL MEDICAID BILLING ACTIVITIES APRIL 29 THROUGH APRIL 30, 2024, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Blakley, Jennifer	0.50 hours	\$45.39 Per Hour	\$22.70
Jose, Bethany	0.50 hours	\$34.00 Per Hour	17.00

LXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY SPRING 2024 MARCH 25 THROUGH MAY 6, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Havenar, Meri	6.00 hours	\$213.42
Holler, Melinda	9.00 hours	320.13
Johnson, Kassandra	9.00 hours	320.13
Joyner, Abbie	9.00 hours	320.13

LXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BBSS COACHES' MEETING APRIL 10, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Sharpe, Jennifer

Spears, Heidi

LXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL TRANSITIONAL ENGLISH CURRICULUM PROFESSIONAL DEVELOPMENT APRIL 25, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

> Chamberlain, Cole Eaton, Deborah Edwards, Dana

Kantor, Kyler Latif, Ruby

LXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID MATHENY RELATIONAL CAPACITY MEETING APRIL 29, 2024, \$35.57 PER HOUR, .75 HOURS FOR A TOTAL OF \$26.68 EACH: (10-2210-0000-1341-564-4)

> Erickson, Carlie Ginsberg, Rachel Harris, Nicolette Logsdon, Thomas

Sapetti, Camryn Small, Laura Thomas, Sarah

LXXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR CTE DEPARTMENT CURRICULUM WORK AND LAB ACTIVITIES NOVEMBER 6 THROUGH APRIL 26, 2024, \$35.57 PER HOUR: (10-2210-6421-1341-252-4)

Morrison, Alexis	10.00 hours	\$355.70
Winders, Scott	54.00 hours	1,920.78

LXXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID DISTRICT QUARTERLY MEETING APRIL 30, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Anderson, Emily	Kircher, Megan
Bartletti, Jennifer	Kleinertz, Larresa
Beck, Melissa	Kyes, Jessieca
Bennett, Janene	Lantz, Andrew
Bluhm, Wendy	Logsdon, Thomas
Bramley, Heather	Martin, Bailey
Cox, Heather	Martin, Colleen
Cuzzort, Samantha	Midiri, Stefanie
Davis, Lacy	Mitts, Jodi
Detmers, Erica	Moskus, Aliyah
Gibbs, Katie	Netznik, Melissa
Hale, Marcy	Riech, Allison
Hale, Yacira	Rogers, Chenoa
Harness, Amanda	Schudel, Mark
Harris, Nicolette	Schweska, Lisa
Hockenyos, Karen	Thompson, Erica
Hodapp, Brad	Tribler, Kimberly
Holcomb, Beth	Walker, Amy
House, Elizabeth	Wallner, Jennifer
Israel, April	Williams, Kauntessa
Kahl, Lindsay	Wilson, Krista
Kincaid, Jessica	Zaffiri, Alise

LXXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY SPRING 2024 MARCH 25 THROUGH MAY 6, 2024, \$125.00 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-3)

Ingram, Cristi Jackson, Ashton Lamantia, Ashley Marcum, Stacie Miller, Holly Noll, Meghan Perry, Whitney Riech, Allison Schultz, Shatoiya Vogt, Denise

LXXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION INCLUSIVE PRACTICES COHORT #2 QUARTERLY MEETING MAY 1, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Armstrong, Dawn	Hughes, Lindsey
Bell, Charlotte	Hurrelbrink, Wendy
Boston, Catherine	Logsdon, Alicia
Burke, Amy	Mcguire, Tracy
Childers, Tiffany	Nelson, Courtney
Crumrine, Carrie	Redpath, Sara
Davis, Lacy	Rodden, Katelynn
Ethridge-Galloway, Tiffany	Schoedel, William
Freer, Jordana	Schukai, Melissa
Fretz, Morgan	Sharpe, Jennifer
Guikema, Lindsay	Tomasko, Kimberly
Hasquin, Jamie	Warren, Lillian
Havenar, Meri	

LXXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR CTE DEPARTMENT CURRICULUM WORK AND LAB ACTIVITIES NOVEMBER 06, 2023 THROUGH MARCH 22, 2024, \$35.57 PER HOUR: (10-2210-6421-1341-252-4)

Devlin, Karri	14.50 hours	\$515.77
Gully, Kimberly	10.00 hours	355.70
Koger, Matthew	10.00 hours	355.70
Krummrich, Patricia	10.00 hours	355.70
Moscardelli, Abigail	10.00 hours	355.70
Sutera, Joseph	10.00 hours	355.70

LXXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MATHENY/WITHROW IAR TRAINING ACTIVITIES MARCH 14, 2024, FOR RATE SPECIFIED : (10-2210-4331-1341-534-4)

Barbee, Beverly	1.00 hours	\$24.10 Per Hour	\$24.10
Morris, Michelle	1.00 hours	\$37.95 Per Hour	37.95
Prather, Sara	1.00 hours	\$22.50 Per Hour	22.50

LXXXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MATHENY/WITHROW IAR TRAINING ACTIVITIES MARCH 12, 2024, \$17.72 PER HOUR, 1 HOUR FOR A TOTAL OF \$17.72 EACH: (10-2210-4331-1341-534-4)

Pitts, Debra

LXXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 3, 2024, \$16.72 PER HOUR, 1 HOUR FOR A TOTAL OF \$16.72 EACH: (10-2210-2300-1341-531-4)

Gullo, Skylyn

Rainey, Breanna

LXXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 11, 2024, \$26.78 PER HOUR, 1 HOUR FOR A TOTAL OF \$26.78: (10-2210-4100-1341-535-4)

Green, Ryan

LXXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION THRIVING FAMILIES CHILD CARE APRIL 23, 2024, FOR RATE SPECIFIED : (10-3900-6120-1269-000-0)

Galmore, Chrisy	3.50 hours	\$26.78 Per Hour	\$93.73
Green, Ryan	3.50 hours	\$26.78 Per Hour	93.73
Morris, Michelle	3.50 hours	\$37.95 Per Hour	132.83

XC RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION AVID DISTRICT QUARTERLY MEETING APRIL 30, 2024, \$37.95 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$56.93: (10-2210-0000-1341-564-4)

Morris, Michelle

XCI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION SRI PROFESSIONAL LEARNING COMMUNITY APRIL 15, 2024, \$24.65 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$55.46: (10-2210-0000-1341-564-4)

Boggs, Stacia

XCII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL MEDICAID BILLING ACTIVITIES APRIL 1 THROUGH MAY 6, 2024, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Baker, Audrey	4.00 hours	\$40.97 Per Hour	\$163.88
Brinkmann, Kristen	5.00 hours	\$62.15 Per Hour	310.75
Clark, Abigail	5.00 hours	\$53.68 Per Hour	268.40
Clark, Michelle	2.75 hours	\$75.75 Per Hour	208.31
Corley, Elizabeth	5.00 hours	\$66.93 Per Hour	334.65

Farley, Nicole	5.00 hours	\$53.68 Per Hour	268.40
Fenstermacher, Lori	5.00 hours	\$75.75 Per Hour	378.75
Groesch, Erica	2.50 hours	\$75.75 Per Hour	189.38
Hummel, Emily	5.00 hours	\$66.93 Per Hour	334.65
Kim, Whitney	4.50 hours	\$75.75 Per Hour	340.88
Kinkade, Taylor	3.00 hours	\$45.21 Per Hour	135.63
Marcum, Stacie	3.75 hours	\$56.52 Per Hour	211.95
Mcdaniel-Norton, Stacey	4.00 hours	\$74.69 Per Hour	298.76
Moore, Carolyn	3.50 hours	\$64.98 Per Hour	227.43
Naumovich, Amanda	5.00 hours	\$70.42 Per Hour	352.10
Ohl, Stephanie	3.00 hours	\$52.26 Per Hour	156.78
Plummer, Kahla	3.75 hours	\$62.47 Per Hour	234.26
Plunkett, Cara	5.00 hours	\$53.68 Per Hour	268.40
Reitz, Laura	4.75 hours	\$64.98 Per Hour	308.66
Roe, Katie	4.00 hours	\$72.55 Per Hour	290.20
Rouland, Jill	3.25 hours	\$63.57 Per Hour	206.60
Sanberg, Kathryn	5.00 hours	\$49.66 Per Hour	248.30
Sapetti, Camryn	3.75 hours	\$42.38 Per Hour	158.93
Vice, Morgan	5.00 hours	\$43.79 Per Hour	218.95

April Medicaid Billing Activities April 1 Through May 6, 2024, For Rate Specified, cont.

XCIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF RESEARCH/TEST/EVAL PERA COMMITTEE MEETINGS SEPTEMBER 11, 2023 THROUGH APRIL 8, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Aladesuyi, Adetoro	6.00 hours	\$213.42
Craner, Serena	8.00 hours	284.56
Daley, Melinda	8.00 hours	284.56
Davis, Monique	4.00 hours	142.28
Erickson, Carlie	6.00 hours	213.42
Ford, Sarah	2.00 hours	71.14
Harris, Nicolette	6.00 hours	213.42
Impson, Jamie	4.00 hours	142.28
Jordan, Laura	4.00 hours	142.28
Maley, Sarah	8.00 hours	284.56
Mckinney, Benjamin	4.00 hours	142.28
Minch, Amy	6.00 hours	213.42
Naumovich, Amanda	2.00 hours	71.14
Rockwell, Jennifer	2.00 hours	71.14
Termine, Leslie	2.00 hours	71.14